A) =7 (EEHRA)

F— LI F—L F—L F— LI T HFA HHA =
1 |87 HFA VS BKE 1| #%HB VS B 7 HFA
2 | NEXO A VS Pk 2 |#54 7*B VS NEXO B NEXO A
3| #&HA VS =K 3 B% VS NEXO B HHA
4 | BKE VS Pk 4 | #%HB VS R— Rk
5 | #54 7RA VS B HA 5 | NEXO B VS R— BKE
6 | NEXO A VS =K 6| &% VS 4 B =K
7| Rk VS B A 70 K— VS 4 B
8 | BEKAE VS NEXO A 8 | NEXO B VS % HB BU—72" (WNR4 vy ba—L)
9 | #57 FRA VS =K 9 [#54 B VS #%HB %HB K— =)
10| #&3HA VS NEXO A A— VS =F % B
11| 1R VS W HFA %“HB VS B 5o 7B
12| BkA VS =K o B VS NEXO B R—
13 | NEXO A VS 4 A =) VS NEXO B NEXO B
14| #&HA VS BIKE %HB VS K— a%
15| 1F#E VS =K NEXO B VS R—
16| Alfi VS Bl A2 VS B2fi




